

DMC No. 000001
Roll No. 22253501
Regn. No. 22-DEO-1

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : AARON MASAINDA
Father's Name : -
Mother's Name : -
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	46 25	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	53 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	42 23	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	51 28	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	32 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	26 15	20AG	050	A+	9	02.0	18.0
	TOTAL	0382		0500			20.0	174.0
	GRAND TOTAL	0382		0500			20.0	174.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.70

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000002
Roll No. 22253516
Regn. No. 22-DEO-16

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ABUBAKAR UMAR BALARABE
Father's Name : UMAR
Mother's Name : RAHMATU
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	46 8	40AG	100	B	6	04.0	24.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	44 12	40AG	100	B+	7	04.0	28.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	44 9	40AG	100	B	6	04.0	24.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	41 22	40AG	100	B+	7	04.0	28.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	30 10	20AG	050	A+	9	02.0	18.0
6	B23-VAC-324 GENDER SENSITIZATION	00 0 F	20AG	050	F	0	02.0	0
	TOTAL	***		0500			20.0	122.0
							20.0	122.0

RESULT : RE - TILL JUN- 2027 IN : B23-VAC-324

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000003
Roll No. 22253526
Regn. No. 22-DEO-26

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ELMES HOLLA
Father's Name : HASWELL
Mother's Name : MERCY
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	52 25	40AG	100	A+	9	04.0	36.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	50 22	40AG	100	A	8	04.0	32.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	50 21	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	57 27	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	32 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	26 14	20AG	050	A+	9	02.0	18.0
	TOTAL	0390		0500			20.0	174.0
	GRAND TOTAL	0390		0500			20.0	174.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.70

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000004
Roll No. 22253528
Regn. No. 22-DEO-28

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ALIYU HAMMAN
Father's Name : -
Mother's Name : -
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	48 25	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	57 20	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	45 21	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	52 23	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	33 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	30 13	20AG	050	O	10	02.0	20.0
	TOTAL	0381		0500			20.0	176.0
	GRAND TOTAL	0381		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000005
Roll No. 22253533
Regn. No. 22-DEO-33

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : KABIR ABUBAKAR
Father's Name : ABUBAKAR
Mother's Name : HASSANA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	39 22	40AG	100	B+	7	04.0	28.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	39 21	40AG	100	B+	7	04.0	28.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	37 28	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	43 21	40AG	100	B+	7	04.0	28.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	25 12	20AG	050	A	8	02.0	16.0
6	B23-VAC-324 GENDER SENSITIZATION	25 12	20AG	050	A	8	02.0	16.0
	TOTAL	0324		0500			20.0	148.0
	GRAND TOTAL	0324		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000006
Roll No. 22253534
Regn. No. 22-DEO-34

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : NAOMI KALITERA
Father's Name : -
Mother's Name : -
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	45 28	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	53 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	49 27	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	49 29	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	30 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	30 15	20AG	050	O	10	02.0	20.0
	TOTAL	0396		0500			20.0	180.0
	GRAND TOTAL	0396		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000007
Roll No. 22253537
Regn. No. 22-DEO-37

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : YUSIF IBRAHIM
Father's Name : IBRAHIM
Mother's Name : ZAINAB
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	55 13	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	51 27	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	45 15	40AG	100	B+	7	04.0	28.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	AB 15 F	40AG	100	F	0	04.0	0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	31 8	20AG	050	A+	9	02.0	18.0
6	B23-VAC-324 GENDER SENSITIZATION	33 8	20AG	050	A+	9	02.0	18.0
	TOTAL	***		0500			20.0	132.0
							20.0	132.0

RESULT : RE - TILL JUN- 2027 IN : B23-VOC-126

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000008
Roll No. 22253545
Regn. No. 22-DEO-45

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : MUNTARI HASSAN
Father's Name : HASSAN
Mother's Name : A ISHA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	46 19	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	52 20	40AG	100	A	8	04.0	32.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	47 21	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	58 19	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	31 12	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	27 14	20AG	050	A+	9	02.0	18.0
	TOTAL	0366		0500			20.0	170.0
	GRAND TOTAL	0366		0500			20.0	170.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000009
Roll No. 22253549
Regn. No. 22-DEO-49

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SARATU UMAR
Father's Name : UMAR
Mother's Name : HALIMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	46 21	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	53 19	40AG	100	A	8	04.0	32.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	44 21	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	55 24	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	31 12	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	28 13	20AG	050	A+	9	02.0	18.0
	TOTAL	0367		0500			20.0	170.0
	GRAND TOTAL	0367		0500			20.0	170.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____

(Clerk)

(Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000010
Roll No. 22253550
Regn. No. 22-DEO-50

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ABDULKADIR MUSTAPHA LAWAN
Father's Name : MUSTAPHA LAWAL MUHAMMAD
Mother's Name : AISHATU JIBRIL ARGUMMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	51 26	40AG	100	A+	9	04.0	36.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	61 25	40AG	100	O	10	04.0	40.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	52 26	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	52 27	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	31 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	32 15	20AG	050	O	10	02.0	20.0
	TOTAL	0413		0500			20.0	188.0
	GRAND TOTAL	0413		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : FEB 05,2026
KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000011
Roll No. 22253551
Regn. No. 22-DEO-51

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SHAMSU HAMISU
Father's Name : HAMISU
Mother's Name : LUBABTU BELLO
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	46 18	40AG	100	B+	7	04.0	28.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	47 15	40AG	100	B+	7	04.0	28.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	50 12	40AG	100	B+	7	04.0	28.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	46 9	40AG	100	B+	7	04.0	28.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	30 3	20AG	050	A	8	02.0	16.0
6	B23-VAC-324 GENDER SENSITIZATION	24 4	20AG	050	B+	7	02.0	14.0
	TOTAL	0304		0500			20.0	142.0
	GRAND TOTAL	0304		0500			20.0	142.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.10

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000012
Roll No. 22253557
Regn. No. 22-DEO-57

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : USMAN HAMZA ABDULLAHI
Father's Name : HAMZA
Mother's Name : BINTA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	48 23	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	55 24	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	55 23	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	47 27	40AG	100	A	8	04.0	32.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	31 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	31 15	20AG	050	O	10	02.0	20.0
	TOTAL	0393		0500			20.0	176.0
	GRAND TOTAL	0393		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000013
Roll No. 22253560
Regn. No. 22-DEO-60

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : EVANS AKUKUMAH NYARTEFE VERNI
Father's Name : -
Mother's Name : -
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	AB 25 F	40AG	100	F	0	04.0	0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	47 23	40AG	100	A	8	04.0	32.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	AB AB F	40AG	100	F	0	04.0	0
4	B23-VOC-126 CREATIVITY & ADVERTISING	AB AB F	40AG	100	F	0	04.0	0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	AB AB F	20AG	050	F	0	02.0	0
6	B23-VAC-324 GENDER SENSITIZATION	AB AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0500			20.0	032.0
							8.0	32.0

RESULT : RE - TILL JUN- 2027 IN : B23-ENG-501 B23-SOC-501 B23-VOC-126 B23-VAC-322 B23-VAC-324

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000014
Roll No. 23153501
Regn. No. 23-DEO-1

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : NAMAN SHARMA
Father's Name : SANJEEV KUMAR SHARMA
Mother's Name : MANJUSHA SHARMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	61 21	40AG	100	A+	9	04.0	36.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	62 20	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	58 18	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	58 17	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	33 10	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	32 11	20AG	050	O	10	02.0	20.0
	TOTAL	0401		0500			20.0	184.0
	GRAND TOTAL	0401		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000015

Roll No. 23153502

Regn. No. 23-DEO-2

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : RISHABH SHARMA
Father's Name : SANDEEP SHARMA
Mother's Name : GEETA SHARMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	38 24	40AG	100	B+	7	04.0	28.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	49 27	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	45 27	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	58 28	40AG	100	O	10	04.0	40.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	29 7	20AG	050	A	8	02.0	16.0
6	B23-VAC-324 GENDER SENSITIZATION	25 15	20AG	050	A+	9	02.0	18.0
	TOTAL	0372		0500			20.0	170.0
	GRAND TOTAL	0372		0500			20.0	170.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000016

Roll No. 23153507

Regn. No. 23-DEO-7

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ADITYA KESHARI
Father's Name : ALOK KESHARI
Mother's Name : VANDANA KESHARI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	49 21	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	57 25	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	53 24	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	60 27	40AG	100	O	10	04.0	40.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	29 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	31 14	20AG	050	O	10	02.0	20.0
	TOTAL	0405		0500			20.0	184.0
	GRAND TOTAL	0405		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000017
Roll No. 23153515
Regn. No. 23-DEO-15

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : PRIYANSHU
Father's Name : NARENDER
Mother's Name : BABY DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	59 28	40AG	100	O	10	04.0	40.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	58 27	40AG	100	O	10	04.0	40.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	58 27	40AG	100	O	10	04.0	40.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	62 28	40AG	100	O	10	04.0	40.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	33 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	33 15	20AG	050	O	10	02.0	20.0
	TOTAL	0442		0500			20.0	200.0
	GRAND TOTAL	0442		0500			20.0	200.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000018
Roll No. 23153516
Regn. No. 23-DEO-16

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : HANISH
Father's Name : JASWANT
Mother's Name : RAJ RANI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	58 24	40AG	100	A+	9	04.0	36.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	56 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	54 25	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	62 27	40AG	100	O	10	04.0	40.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	32 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	31 14	20AG	050	O	10	02.0	20.0
	TOTAL	0423		0500			20.0	188.0
	GRAND TOTAL	0423		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000019
Roll No. 23153518
Regn. No. 23-DEO-18

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : KUSUM
Father's Name : SATBIR
Mother's Name : PINKI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	AB AB F	40AG	100	F	0	04.0	0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	AB AB F	40AG	100	F	0	04.0	0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	59 25	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	57 24	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	32 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	21 9	20AG	050	B+	7	02.0	14.0
	TOTAL	***		0500			20.0	106.0
							12.0	106.0

RESULT : RE - TILL JUN- 2027 IN : B23-ENG-501 B23-ECO-501

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000020
Roll No. 23153519
Regn. No. 23-DEO-19

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SATVIR MALIK
Father's Name : MANGAL SINGH
Mother's Name : SEELA DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	AB 26 F	40AG	100	F	0	04.0	0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	AB 24 F	40AG	100	F	0	04.0	0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	43 26	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	47 29	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	30 11	20AG	050	A+	9	02.0	18.0
6	B23-VAC-324 GENDER SENSITIZATION	25 13	20AG	050	A+	9	02.0	18.0
	TOTAL	***		0500			20.0	104.0
							20.0	104.0

RESULT : RE - TILL JUN- 2027 IN : B23-ENG-501 B23-ECO-501

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000021
Roll No. 23153523
Regn. No. 23-DEO-23

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SURYANSH
Father's Name : RAVINDER
Mother's Name : SANGEETA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	51 14	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	54 14	40AG	100	A	8	04.0	32.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	56 14	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	57 14	40AG	100	A	8	04.0	32.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	32 8	20AG	050	A+	9	02.0	18.0
6	B23-VAC-324 GENDER SENSITIZATION	32 7	20AG	050	A+	9	02.0	18.0
	TOTAL	0353		0500			20.0	164.0
	GRAND TOTAL	0353		0500			20.0	164.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.20

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____

(Clerk)

(Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000022
Roll No. 23153524
Regn. No. 23-DEO-24

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : NAVJOT SINGH MULTANI
Father's Name : JARNAIL SINGH MULTANI
Mother's Name : PARAMJEET MULTANI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	59 7	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	50 10	40AG	100	B+	7	04.0	28.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	43 15	40AG	100	B+	7	04.0	28.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	63 0	40AG	100	B+	7	04.0	28.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	32 7	20AG	050	A+	9	02.0	18.0
6	B23-VAC-324 GENDER SENSITIZATION	29 12	20AG	050	A+	9	02.0	18.0
	TOTAL	0327		0500			20.0	152.0
	GRAND TOTAL	0327		0500			20.0	152.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.60

DATED : FEB 05,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000023
Roll No. 23153525
Regn. No. 23-DEO-25

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : MOHAN
Father's Name : PREM SINGH
Mother's Name : SANITA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	AB AB F	40AG	100	F	0	04.0	0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	AB AB F	40AG	100	F	0	04.0	0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	46 20	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	61 26	40AG	100	O	10	04.0	40.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	31 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	***		0500			20.0	112.0
							12.0	112.0

RESULT : RE - TILL JUN- 2027 IN : B23-ENG-501 B23-ECO-501

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000024
Roll No. 23153526
Regn. No. 23-DEO-26

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SHRUTI
Father's Name : PAWAN GUPTA
Mother's Name : NIDHI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	55 17	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	49 15	40AG	100	B+	7	04.0	28.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	59 17	40AG	100	A+	9	04.0	36.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	58 14	40AG	100	A	8	04.0	32.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	32 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-324 GENDER SENSITIZATION	30 13	20AG	050	O	10	02.0	20.0
	TOTAL	0372		0500			20.0	168.0
	GRAND TOTAL	0372		0500			20.0	168.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.40

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000025
Roll No. 23153528
Regn. No. 23-DEO-28

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : MEET ARORA
Father's Name : YASH PAL ARORA
Mother's Name : ANITA ARORA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	47 18	40AG	100	A	8	04.0	32.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	51 19	40AG	100	A	8	04.0	32.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	46 20	40AG	100	A	8	04.0	32.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	35 20	40AG	100	B+	7	04.0	28.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	19 11	20AG	050	B+	7	02.0	14.0
6	B23-VAC-324 GENDER SENSITIZATION	23 12	20AG	050	A	8	02.0	16.0
	TOTAL	0321		0500			20.0	154.0
	GRAND TOTAL	0321		0500			20.0	154.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.70

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000026
Roll No. 23153530
Regn. No. 23-DEO-30

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF ART SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : AABHA
Father's Name : BHUPENDRA UNİYAL
Mother's Name : RAJI UNİYAL
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ENG-501 INTRODUCTION TO SHORT NOVEL & ADVANCED GRAMMAR	36 15	40AG	100	B	6	04.0	24.0
2	B23-ECO-501 ECONOMICS OF GROWTH & DEVELOPMENT	53 23	40AG	100	A+	9	04.0	36.0
3	B23-SOC-501 MODERN SOCIOLOGICAL THOUGHT-I	36 15	40AG	100	B	6	04.0	24.0
4	B23-VOC-126 CREATIVITY & ADVERTISING	56 23	40AG	100	A+	9	04.0	36.0
5	B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS	17 7	20AG	050	C	5	02.0	10.0
6	B23-VAC-324 GENDER SENSITIZATION	26 11	20AG	050	A	8	02.0	16.0
	TOTAL	0318		0500			20.0	146.0
	GRAND TOTAL	0318		0500			20.0	146.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.30

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS